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 BECC-103  

B.A. (HONOURS) ECONOMICS  

(BAECH) 

Term-End Examination 

December, 2022  

BECC-103 : INTRODUCTORY MACROECONOMICS   

Time : 3 hours Maximum Marks : 100 

Note :  Attempt questions from all the sections as per 

instructions given in each section.   

SECTION A 

Attempt any two questions from this section in about 

500 words each.   220=40 

1. Bring out the important features of the classical 

approach to macroeconomics. Why did it fail to 

explain the Great Depression ? Explain.       

2. In the IS-LM model, explain how equilibrium in 

the economy is attained. What are the factors 

that affect the shape of the IS and LM curves ?  
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3. With the help of an appropriate diagram, 

explain how equilibrium output is determined in 

an open economy.  

4. What is meant by inflation ? What are the 

different causes of inflation ?   
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SECTION B 

Attempt any four questions from this section in 

about 250 words each. 412=48 

5. Explain how income tax acts like an automatic 

stabiliser for an economy.  

6. How does circular flow of income help to explain 

the national income identity ? Explain.    

7. What is meant by monetary policy ? Describe 

the instruments of monetary policy. 

8. In the Keynesian framework, what are the 

different types of demand for money ? In this 

context, explain the concept of liquidity trap.   

9. Discuss the quantity theory of money. 

Distinguish between the Cambridge approach 

and the Fischer’s approach to quantity theory of 

money.      

10. Explain the concept of investment multiplier. 

What are its limitations ? 

11. In the IS-LM model, explain how the economy 

has a tendency to correct a disequilibrium 

status.    
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SECTION C 

12. Write short notes on any two of the  

following :  26=12  

(a) Balanced Budget Multiplier  

(b) Broad Money   

(c) Gross National Product (GNP)  

(d) Monetary Base of an Economy 
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 ~r.B©.gr.gr.-103  

 ~r.E. (Am°Zg©) AW©emñÌ 

(~r.E.B©.gr.EM.) 

gÌm§V narjm 

{Xgå~a, 2022 

 

~r.B©.gr.gr.-103 : n[aM`mË_H$ g_{îQ> AW©emñÌ 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> : àË`oH$ ^mJ _| {XE JE {ZX}emZwgma g^r ^mJm| _| go àíZm| Ho$ 

CÎma Xr{OE &  

^mJ H$  

Bg ^mJ _| go {H$Ýht Xmo àíZm| Ho$ CÎma bJ^J 500 eãXm| 

(àË`oH$) _| Xr{OE &  220=40 

1. g_{îQ> AW©emñÌ Ho$ na§namJV (Šbm{gH$b) Ñ{îQ>H$moU H$s 
_hÎdnyU© {deofVmAm| na àH$me S>m{bE & `h _hm_§Xr H$s 
ì`m»`m H$aZo _| Š`m| {d\$b ahm ? g_PmBE &   

2. IS-LM _m°S>b _|, g_PmBE {H$ AW©ì`dñWm _| g§VwbZ H¡$go 
àmßV {H$`m OmVm h¡ & do H$m¡Z-go H$maH$ h¢ Omo IS Am¡a LM 

dH«$m| Ho$ AmH$ma H$mo à^m{dV H$aVo h¢ ?  
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3. EH$ Cn`wº$ {MÌ H$s ghm`Vm go, g_PmBE {H$ EH$ Iwbr 

AW©ì`dñWm _| g§Vw{bV CËnmXZ H$m {ZYm©aU H¡$go hmoVm h¡ &   

4. _wÐmñ\$s{V go Š`m A{^àm` h¡ ? _wÐmñ\$s{V Ho$ {d{^Þ H$maU 

H$m¡Z-go h¢ ?  

 



BECC-103 7   P.T.O. 

^mJ I 
Bg ^mJ _| go {H$Ýht Mma àíZm| Ho$ CÎma bJ^J 250 eãXm| (àË òH$) _| 
Xr{OE &   412=48 

5. g_PmBE {H$ {H$g àH$ma Am`H$a EH$ AW©ì`dñWm Ho$ {bE 

ñdMm{bV pñWaH$ H$s Vah H$m`© H$aVm h¡ &    

6. Am` H$m MH«$s` àdmh amîQ´>r` Am` gd©g{_H$m H$s ì`m»`m 

_| H¡$go _XX H$aVm h¡ ? g_PmBE &   

7. _m¡{ÐH$ Zr{V go Š`m A{^àm` h¡ ? _m¡{ÐH$ Zr{V Ho$ CnH$aUm| 

H$m dU©Z H$s{OE & 

8. Ho$ÝµOr`Z g§aMZm _|, _wÐm H$s {d{^Þ àH$ma H$s _m±J Š`m h¢ ? 

Bg g§X^© _|, VabVm Omb H$s AdYmaUm H$s ì`m»`m  

H$s{OE &  

9. _wÐm Ho$ n[a_mU {gÕm§V H$s MMm© H$s{OE & _wÐm Ho$ n[a_mU 

{gÕm§V Ho$ H¡$på~«O Ñ{îQ>H$moU Am¡a {\$ea Ñ{îQ>H$moU _| A§Va 

ñnîQ> H$s{OE &   

10. {Zdoe JwUH$ H$s AdYmaUm H$s ì`m»`m H$s{OE & BgH$s Š`m 

gr_mE± h¢ ?  

11. IS-LM _m°S>b _|, g_PmBE {H$ {H$g àH$ma AW©ì`dñWm _| 

Ag§VwbZ pñW{V H$mo R>rH$ H$aZo H$s àd¥{Îm hmoVr h¡ &  
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^mJ J 

12. {ZåZ{b{IV _| go {H$Ýht Xmo na g§{jßV {Q>ßn{U`m±  

{b{IE :  26=12  

(H$) g§Vw{bV ~OQ> JwUH$  

(I) ~¥hX _wÐm  

(J) gH$b amîQ´>r` CËnmX (GNP)  

(K) EH$ AW©ì`dñWm H$m _m¡{ÐH$ AmYma   

 


